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(10) ‘yc ŷV g§emoYZ kmZ
1) g§emoYZmMo  àH$ma, g§emoYZmMr à{H«$¶m
2) g§emoYZ AmamIS>m
3) g§emoYZ A{^`mo½`Vm
4) dmMZ AmH$bZ
5) AmYmagm_J«r AW©CH$b
6) AÜ`mnZ A{^`mo½`Vm
7) Cƒ {ejU nÕVr
8) ì¶mdgm{¶H$ {ejU H$m¡eë¶ {dH$mg

1) g§emoYZmMo  àH$ma, g§emoYZmMr à{H«$¶m
1) gd© gmd©O{ZH$ Am{U ImOJr g§ñWm§Zm, H$moUVm {d^mJ Am¡Úmo{JH$ {dH$mgmgmR>r AgUo JaOoMo Amho ?

1) g§emoYZ Am{U {dH$mg 2) ‘mZd gmYZ òmoV à{ejU
3) XO}Xma CËnmXZ 4) CÎm‘ AmñWmnZm

1) All public and private sectors, should have, which section. for Industrial Development ?

1) Research and Development 2) Human Resource Training

3) Quality production 4) Good Establishment

2) 1835 ‘Ü¶o ........... ¶m§Zr cm°{OñQ>rH$ H$ìh©Mm dmna H$éZ cmoH$g§»¶m{df¶H$ A§XmO H$aÊ¶mMr nÕVr {dH${gV Ho$cr.
1) ßcoQ>coQ> 2) ³doQ>coQ> 3) lm°’$a 4) ‘mëWg

2) In 1835,  ............... developed population projection method by using logistic curve.

1)  Platelet 2)  Quetelet 3)  Shrofer 4)  Malthus

2) g§emoYZ AmamIS>m

3) g§emoYZ A{^`mo½`Vm

4) dmMZ AmH$bZ
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5) AmYmagm_J«r AW©CH$b

6) AÜ`mnZ A{^`mo½`Vm
1) AÜ¶¶Z Aj‘VoMo àH$ma ~wÕrÀ¶m Mma joÌm§er g§~§{YV AgVmV, ~wÕrÀ¶m ¶m Mma joÌm§er g§~§{YV VrZ AÜ¶¶Z Aj‘Vm

nwT>rcà‘mUo AmhoV.
1) A§V ©̂aU 2) ñ‘aU                3) ~mø{ZînÎmr, Va Mm¡Wr AÜ¶¶Z Aj‘Vm ............... Amho.
n¶m©¶r CÎmao :
1) Ñï>r{df`H$ AmH$cZ 2) ldU{df¶H$ AmH$cZ 3) g§H$cZ 4) ¶mn¡H$s Zmhr

1) Types of learning disabilities relate to four domains of intelligence. The three learning disabilities

associated with these four areas of intelligence are

1) Input

2) Memory

3) Output. The fourth related learning disability is

Answer options :

1) Sight related understanding 2) Hearing related understanding

3) Integration 4) None of these

2) J{UVr¶ g§H$ënZm Xe©{dÊ¶mgmR>r {OAmoOo~«m ñH«$sZ àm‘w»¶mZo VrZ {d^mJm§‘Ü¶o {d^mJcr Jocr Amho. ¶mVrc XmoZ {d^mJ
Imcr {Xcoco AmhoV. {Vgam {d^mJ n¶m©¶m§VyZ emoYm.
1. J«m{’$H$ ìøy 2. Ac{O~«m ìøy
n¶m©¶r CÎmao :
1) ñQ>°Q> ~ma 2) BZnwQ> ~ma 3) ŷ{‘Vr ìøy 4) ¶mn¡H$s Zmhr

2) The Geogebra screen is mainly divided into three sections to show mathematical concepts. The

two sections are given below. Find out the third section from options.

1. Graphic view 2. Algebra view

Answer options :

1) Stat bar 2) Input bar 3) Geometry view 4) None of these

3) amï´>r¶ AÜ¶mnH$ {ejU n[afX Imbrbn¡H$s H$moUË¶m Aä¶mgH«$‘m§Zm ‘mÝ¶Vm XoVo ?
a) embo¶nyd© {ejU nX{dH$m b) ~r.ES>.
c) ~r.nr.ES>. d) E‘². ES>.
e) H$bm {ejU (Q´>H$) nX{dH$m
n¶m©¶r CÎmao …
1) ’$º$ (b) Am{U (c) 2) ’$º$ (a) Am{U (c) 3) ’$º$ (b) Am{U (d) 4) darb gd©

3) NCTE recognises which of the following courses ?

a) Diploma in pre-school Education b) B.Ed

c) B.P.Ed d) MEd

e) Diploma in Arts Education (Visual Arts)

Answer Options :

1) Only (b) and (c) 2) Only (a) and (e) 3) Only (b) and (d) 4) All of the above
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7) ì¶mdgm{¶H$ {ejU H$m¡eë¶ {dH$mg

ì¶mdgm{¶H$ {ejU
1) 1951 ¶m dfm©‘Ü¶o V§Ì{ejUmMm {dH$mg hmoÊ¶mgmR>r ^maVmg gd©àW‘ AZwXmZ ............ Zo {Xco.

1) ¶wZoñH$mo 2) ¶w. Eg. E. 3) ¶w. Ho$. 4) Am°ñQ´>o{c¶m
1) In the year 1951 .......... has given grants to India for first time for .the development of technical

education.

1)  UNESCO 2)  USA 3) UK 4)  Australia

2) Imcrcn¡H$s H$moUVr g§ñWm ^maVmVrc Vm§{ÌH$ Am{U ì¶dñWmnZ {ejUmÀ¶m JwUdÎmoda cj R>odVo ?
1) NCTE 2) MCI 3) AICTE 4) CSIR

2) Which of the following organisation  looke  after the quality  of Technical  and Management

Education in India ?

1) NCTE 2) MCI 3)  AICTE 4)  CSIR

3) Am§Vaamï´>r¶ e¡j{UH$ {Z¶moOZ g§ñWm (IIEP) ...... ¶oWo Amho.
1) ‘w§~B© 2) {X„r 3) b§S>Z 4) n°[ag

3) International Institute of Educational Planning is at ............

1) Mumbai  2) Delhi 3) London 4) Paris

4) nwT>rbn¡H$s H$moUVr e¡j{UH$ g§ñWm 2017 À¶m a±qH$J‘Ü¶o (JwUmZwH«$‘m‘Ü¶o) g§nyU© ^maVmV gdm}ËH¥$ï> Kmo{fV H$aÊ¶mV
Ambr?
1) ~Zmag qhXÿ {dÚmnrR> 2) ^maVr¶ ì¶dñWmnZ g§ñWm, Ah‘Xm~mX
3) ^maVr¶ {dkmZ g§ñWm, ~|Jbmoa, H$Zm©Q>H$ 4) ^maVr¶ V§ÌkmZ g§ñWm, ‘Ðmg, Vm{‘iZmSy>

4) Which of the following education institute was declared the best in the overall India Ranking

2017?

1) Banaras Hindu University

2) Indian Institute of Management, Ahmadabad

3) Indian Institute of Science, Bangalore, Karnataka

4) Indian Institute of Technology, Madrass, Tamil Nadu

5) ì¶dgm{¶H$ Aä¶mgH«$‘mÀ¶m ~m~VrV Imcrcn¡H$s H$moUVr {e’$mag OZmX©Z aoÈ>r g{‘Vr - 1992 Zo Ho$cr?
a)$ì¶dgm{¶H$ Aä¶mgH«$‘ hm dJ© 9 nmgyZ gwé H$amdm. b)$H$m¶m©Zŵ d {d{YdV H$m¶m©pÝdV Pmco nm{hOo.
n¶m©¶r CÎmao …
1) ’$º$ (a)$ 2) ’$º$$(b)$ 3) XmoÝhr (a) d (b)$ 4) ¶mn¡H$s Zmhr

5) Which  of  the  following  is  the  recommendation  of  Janardhana  Reddy's Committee — 1992

with  regards to Vocational Education ?

(a)  Vocational course should be started from Standard 9.

(b)  Work experience should be duly functional.

Answer Options :

1)  Only (a) 2)  Only (b) 3)  Both (a) and (b) 4)  None of the above
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6) Vm§{ÌH$ ñWmZ~Õ à{ejU H$m¶©H«$‘mImbr ghH$m¶m©À¶m {ZdoXZ nÌH$mda 17 Am°³Q>mo~a 2017 bm ...... gmR>r ñdmjè¶m
Pmë¶m.
a) ^maV Am{U OnmZÀ¶m H$m¡eë¶ {dH$mg joÌmVrb {Ûnjr¶ ghH$m¶m©V ‘hÎdnyU© dmT>
b) CÚmoOH$Vm  {dH${gV H$aUo.
c) amï´>r¶ EH$mË‘Vm {dH${gV H$aUo.
d) ‘mZdr g§gmYZ {dH${gV H$aUo.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (d) 2) ’$º$ (b) 3) ’$º$ (c) 4) ’$º$ (b) Am{U (d)

6) Under technical Intern-Training program Memorandum of Co-operation (Mou)was signed on 17

Oct 2017 for

a) Signiticantly expand the bilateral co-operation between India and Japan in the skill development

sector

b) Developing enterprenurship

c) Developing national integration

d) Human resource development

Answer Options :

1) Only (a) and (d)       2) Only (b) 3) Only (c) 4) Only (b) and (d)

7) ^maVr¶ V§Ì{ejU n[afXo~m~V Imbrbn¡H$s H$moUVr {dYmZo AgË¶ AmhoV ?
a) A{Ib ^maVr¶ V§Ì{ejU n[afXoMr ñWmnZm Zmoìh|~a 1945 ‘Ü¶o H$aÊ¶mV Ambr.
b) {ZH$f Am{U ‘mZH$m§À¶m {Z¶moOZ, {Z{‘©Vr Am{U {Zdm©hgmR>rMo ho d¡Ym{ZH$ àm{YH$aU Amho.
c) ‘mÝ¶VoÀ¶m ‘mÜ¶‘mVyZ JwUdÎmoMr h‘r XoUo.
d) àmYmÝ¶ joÌmV {ZYr XoUo, {Z¶§ÌU H$aUo Am{U ‘yë¶‘mnZ H$aUo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) $ 4) darbn¡H$s EdT>r Zmhr

7) Which of the following statements are false about All India Council for Technical Education ?

a) All India Council for Technical Education was set up in November 1945

b) Itis a statutory authority for planning, formation and maintenance for norms and standards

c) Quality Assurance through accreditation

d) Funding in priority areas, monitoring and evaluation

Answer Options :

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) 4) None of the above

8) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo MwH$sMo/Mr Amho/V ?
a) E Am¶ gr Q>r B© Mr {Z{‘©Vr Zmoìh|~a 1945 ‘Ü¶o H$aÊ¶mV Ambr.
b) E Am¶ gr Q>r B© A{Y{Z¶‘ 1987 ‘Ü¶o nm[aV H$aÊ¶mV Ambm.
c) E Am¶ gr Q>r B© {díd{dÚmb¶ AZwXmZ Am¶moJmMr emIm Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a) MwH$sMo Amho 2) ’$º$ (b) MwH$sMo Amho
3) (a) Am{U (b) MwH$sMr AmhoV 4) ’$º$ (c) MwH$sMo Amho.
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8) Which of the following statements is/are incorrect ?

(a) AICTE was set up in Nov. 1945 meres

(b) The AICTE Act was passed in 1987

(c) AICTE is a branch of the U.G.C.

Answer Options :

1) Only (a) is incorrect 2) Only (b) is incorrect

3) (a) and (b) are incorrect 4) Only (c) is incorrect

9) amï´>r¶ ì¶mdgm{¶H$ à{ejU n[afX 1956 ‘Ü¶o C^maÊ¶mV Ambr. Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo AMyH$ Amho/V?
a) EZ gr ìhr Q>r hr ^maV gaH$maMr ñdm¶Îm g§ñWm Amho.
b) 2019 ‘Ü¶o EZ gr ìhr Q>r, EZ gr ìhr B© Q>r ‘Ü¶o {dbrZ Pmbr.
c) EZ gr ìhr B© Q>r ì¶mdgm{¶H$ {ejU Am{U à{ejUmgmR>rÀ¶m gd© g§ñWm§À¶m H$m¶m©Mo {Z¶‘Z H$aob.
n¶m©¶r CÎmao …
1) (a) 2) (b) Am{U (c) 3) (b) 4) darb gd©

9) The National Council of Vocational Training set up in 1956. Which of the following statements

is/ are correct ?

a) NCVT is an autonomous Body of the Gol.

b) NCVT is subsumed in NCVET in 2019.

c) NCVET will regulate functioning of all entities engaged in vocational education and training.

Answer Options : :

1) (a) 2) (b) and (c) 3) (b) 4) All of the above

10) ‘hmamï´> amÁ¶ H$m¡eë¶ {dÚmnrR>mZo Zmoìh|~a, 2022 ‘Ü¶o Imbrbn¡H$s H$moUVo Aä¶mgH«$‘ Kmo{fV Ho$bo ?
a) H¥${Ì‘ ~w{Õ‘Îmm Am{U {dXm {dkmZ b) ³bmCS> g§JUZ
c) ZdrZ CnH«$‘ ì¶dñWmnZ d) gm¶~a gwajm
e) aoer‘ {H$S>çm§Mr OmonmgZm
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (b) Am{U (c) 3) (a), (b), (c) Am{U (d) 4) ’$º$ (e)

10) The Maharashtra State Skills University has declared, which of the following courses in November,

2022 ?

a) Artificial Intelligence - data science b) Cloud Computing

c) New Venture Management d) Cyber Security

e) Sericulture

Answer Options :

1) (a) only 2) (b) and (c) 3) (a), (b), (c) and (d) 4) (e) only

11) ^maVr¶ V§Ì{ejU n[afXo~m~V Imbrbn¡H$s H$moUVr {dYmZo AgË¶ AmhoV ?
a) A{Ib ^maVr¶ V§Ì{ejU n[afXoMr ñWmnZm Zmoìh|~a 1945 ‘Ü¶o H$aÊ¶mV Ambr.
b) {ZH$f Am{U ‘mZH$m§À¶m {Z¶moOZ, {Z{‘©Vr Am{U {Zdm©hgmR>rMo ho d¡Ym{ZH$ àm{YH$aU Amho.
c) ‘mÝ¶VoÀ¶m ‘mÜ¶‘mVyZ JwUdÎmoMr h‘r XoUo.
d) àmYmÝ¶ joÌmV {ZYr XoUo, {Z¶§ÌU H$aUo Am{U ‘yë¶‘mnZ H$aUo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) $ 4) darbn¡H$s EdT>r Zmhr
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11) Which of the following statements are false about All India Council for Technical Education ?

a) All India Council for Technical Education was set up in November 1945

b) Itis a statutory authority for planning, formation and maintenance for norms and standards

c) Quality Assurance through accreditation

d) Funding in priority areas, monitoring and evaluation

Answer Options :

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) 4) None of the above

12) Imcrcn¡H$s H$moUVr g§ñWm CÚmoJ ì¶dñWmnZ joÌmV à{ejU XoÊ¶mMo H$m‘ H$aVo ?
a)$^maVr¶ V§ÌkmZ g§ñWm (IIT) b)$amï´>r¶ ì¶mdgm{¶H$ à{ejU ‘§S>i (NCTVT)

c)$A{Ic ^maVr¶ V§Ì{ejU n[afX (AICTE) d)$^maVr¶ ì¶dñWmnZ n[afX (IIM)

n¶m©¶r CÎmao :
1) ’$º$ (b) 2) ’$º$ (d)$ $3) (a) Am{U (c)$ 4) darcn¡H$s Zmhr

12) Which  of  the  following  institutes  provide  training  in  the  field  of Industry Management ?

a)  Indian Institute of Technology (IIT)

b)  National Council for Training in Vocational Trade (NCTVT)

c)  All India Council for Technical Education (AICTE)

d)  Indian Institute of Management (IIM)

Answer Options :

1)  Only (b) 2)  Only (d) 3)  (a) and (c) 4)  None of the above

13) ^maVmVrb TVET àUmbr ...... gmR>r H$m¶© H$aVo.
a) emídV {dH$mg b) kmZ d H$m¡eë¶ {dH$mg c) V§Ì {ejUmMr JwUdÎmm amIUo
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a) Am{U (c) ’$º$ 4) darbn¡H$s gd©

13) TVET system in India works for

a) Sustainable development

b) Knowledge and skill development

c) Maintain quality of technical education

Answer options :

1) (a) and (b) only 2) (b)  and (c) only 3) (a) and (c) only 4) All of the above

14) H|$Ð emgZmÀ¶m A{YnË¶mImbrb amï´>r¶ H$m¡eë¶ à{ejU g§ñWm ‘{hbm§Zm H$m¡eë¶ à{ejU ... Am{U ... Ûmao nwa{d{dVo.
1) gr.Q>r.Eg., gr.Am¶.Q>r.Eg. 2) Am¶.Eb.Amo., S>ãë¶y.ìhr.Q>r.nr.
3) gr.Q>r.Eg., EZ.Eg.Q>r.Am¶. 4) ~r.Q>r.nr., Ama.ìhr.Q>r.Am¶.

14) National Skill training institutes for women under Central Government provides skill training

though ...... and ...... to women.

1) C.T.S., C.I.T.S. 2) I.L.O., W.V.T.P. 3) C.T.S., N.S.T.L. 4) B.T.P., R.V.T.I.
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15) ^maVr¶ Am¡Úmo{JH$ à{ejU g§ñWo (Am¶.Q>r.Am¶.) ~m~V {dYmZo :
a) H$‘r {eH$coë¶m VéUm§Zm ì¶mdgm{¶H$ {ejU XoUo.
b) Ag§K{Q>V joÌmVrc Hw$ec H$m‘Jmam§Mr JaO ^mJdUo.
c) H|$Ð gaH$maH$Sy>Z {Z¶§ÌU d {ZYrMr CncãYVm.
n¶m©¶r CÎmao :>
1) (a),(b) 2) (b),(c) 3) (a),(c) 4) gd© ~amo~a

15) Statement on Industrial Training Institutes of India (ITI)

a) Provides vocational education to less educated youth.

b) To serve the need of skilled workers in unorganized field.

c) Control and Fund availability from central government.

Answer Options :

1) (a), (b) 2) (b), (c) 3) (a), (c) 4) All correct

16) ¶mo½¶ ì¶dgm¶ Am{U Aä¶mgH«$‘ {ZdS>rgmR>r ...... MmMÊ¶m§Mm àmYmÝ¶mZo Cn¶moJ Ho$bm OmVmo.
1) A{^¶mo½¶Vm 2) ~w{Õ‘Îmm 3) A{^d¥Îmr 4) ì¶{º$Ëd

16) For proper choice of career and courses tests are preferably used.

1) Aptitude 2) intelligence 3) Attitude 4) Personality

17) ^maVmVrc ì¶mdgm{¶H$ d Vm§{ÌH$ {ejU àgma {Z¶‘Z, ‘mÝ¶Vm ¶m~m~V OmJ{VH$ ~±Ho$À¶m, 2006 ‘Yrc AhdmcmVrc
H$mhr ‘hÎdmMr {ZarjUo d {e’$magr.
a)$gÜ¶mMr ì¶mdgm{¶H$ {ejU nÕVr H$mc~mø Pmcr Ë¶m‘wio ~Xc Amdí¶H$ Amho.
b)$BVa XoemÀ¶m VwcZoV ^maVr¶ H$m‘Jmam§Mm e¡j{UH$ ñVa H$‘r Amho.
c)$ì¶mdgm{¶H$ {ejUmMo à‘mU 10% BVHo$ Amho.
d)$ì¶mdgm{¶H$ {ejUmMm Aä¶mgH«$‘ R>a{dÊ¶mV VgoM {ejU g§ñWm§À¶m ì¶dñWmnZmV CÚmoOH$m§Mm gh^mJ Amdí¶H$

Amho.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
n¶m©¶r CÎmao :
1) ’$º$ (a) 2) (a),(b) ’$º$ (c) 3) (a),(b) Am{U (d)$ 4) darc gd©

17) Observation and recommendation of the report of the World Bank, 2006, regarding the professional

and technical education circulation, regulation, approval in India.

iement of education institute.

Which of the above statement(s) ie/are correct ?

1)  Only (a)                  2)  (a), (b) and (c) 3)  (a), (b) and (d)               4)  All of the above

18) Imcrcn¡H$s H$moUVr EH$ {ejUmÀ¶m ì¶dgm¶rH$aUm g§~§Yr amï´>r¶ e¡j{UH$ YmoaUmVrc VaVyX Zmhr ?
1) H¥$fr, ‘mH}$qQ>J d g‘mOgodm ¶mgmaIo {df¶ ì¶dgm¶ {ejUmV gm‘mdyZ KoVco Omdo.
2) ì¶dgm{¶H$ g§ñWm ñWm{nV H$amì¶mV.
3) {dkmZ {ejUmÛmao {dÚmÏ¶mª‘Ü¶o g‘ñ¶m {Z‘y©cZ d {ZU©¶j‘Vm ¶mo½¶Vm {Z‘m©U H$aUo
4) {dÚmÏ¶mªZm Am¡nMm[aH$ {ejU XoUo.



Am¶wº$/A{YH$mar g‘mOH$ë¶mU ImVo narjm / 146

For Private Circulation Only

18) Which of the following is not a provision of National Education Policy on Vocationalization

of  Education ?

1)  Agriculture, Marketing, Social Service, etc. should be included in vocational subecW.

2)  Vocational Institutes should be established.

3)  To create the ability of problem-solving and decision-making among the students through

science education.

4)  To give formal education to the utudento.

19) ì¶dgm¶{df¶H$ ‘m{hVrMr Amdí¶H$Vm nwT>rc H$moUË¶m H$maUm‘wio AgVo ?
a)$amÁ¶ d H|$Ð gaH$macm cmoH$m§Zm amoOJma nwa{dÊ¶mgmRr
b)$e¡j{UH$ g§ñWmZm ì¶dgm¶{^‘wI Aä¶mgH«$‘ AmIÊ¶mgmR>r
c)${dÚmÏ¶mªZm ¶mo½¶ Aem ì¶dgm¶mV àdoe H$aÊ¶mgmR>r
d)${dÚmÏ¶mªZm {d{dY ZmoH$è¶mg§~§Yr ‘m{hVr {‘iÊ¶mgmR>r
n¶m©¶r CÎmao :
1) (a),(b) d  (c) 2) (a),(b) d  (d) 3) (b),(c) d  (d) 4) (a),(c) d  (d)

19) Occupational information is needed :

a)  To provide employment to people by State and Central Government.

b)  To plan the oriented occupational curriculum for educational institutes.

c)  For the entry of students in proper occupation.

d)  To provide the information for students regarding different jobs.

Anawer Options :

1)  (a), (b) and (c) 2)  (a), (b) and (d) 3)  (b), (c) and (d) 4)  (a), (e) and (d)

20) a) amï´>r¶ ì¶dgm¶ à{ejU ‘§S>i ¶m g§ñWo‘m’©$M Vm‘XmH$mhZm ì¶dgm¶ H$m¡eë¶mMo à{ejU XoUmè¶m g§ñWm qH$dm
Am¡Úmo{JH$ à{ejU g§ñWm§Mo {Z¶‘Z Ho$bo OmVo.

b) ^maVr¶ ì¶dñWmnZ g§ñWm hr CÚmoJ ì¶dñWmnZ joÌmV à{ejU XoÊ¶mgmR>r ñWmnZ H$aÊ¶mV Ambr.
c) Am¡Úmo{JH$ à{ejU g§ñWm hr ^maVmÀ¶m V§ÌkmZ d Am¡Úmo{JH$ {dH$mgmH$arVm Amdí¶H$ Aem ì¶mdgm{¶H$ emIoVrb

Hw$eb ‘Zwî¶~i {Z‘m©U H$aÊ¶mgmR>r 1950 bm ñWmnZ H$aÊ¶mV Ambr.
darbn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV ?
n¶m©¶r CÎmao …
1) ’$º$ (c) 2) (b) Am{U (c) 3) (a), (b) Am{U (c) 4) darbn¡H$s Zmhr

20) a) Institutions Providing vocational Skills Training to workers or Industrial Training Institutes

are regulated by the National Council for Training in Vocational Trade (NCTVT).

b) Indian Institute of Management was established to provide training in the field of Industrial

Management. ‘

c) The Industrial Training Institute was established in 1950 to produce skilled manpower in trades

required for the technological and Industrial development of India.

Which of the given above statement(s) is/are incorrect ?

1) Only (c) 2) (b) and (c) 3) (a), (b) and (c) 4) None of the above



Am¶wº$/A{YH$mar g‘mOH$ë¶mU ImVo narjm / 147

For Private Circulation Only

21) ì¶mdgm{¶H$ CËH¥$ï>Voda n[aUm‘ H$aUmao KQ>H$ ..........
a) ‘mZdr g§nÎmrMr JwUdÎmm b) ì¶mdgm{¶H$ à{ejU
c) ì¶mdgm{¶H$ j‘Vm d) EHy$U bmoH$g§»¶m
n¶m©¶r CÎmao …
1) ’$º$  (a), (b) 2) ’$º$ (a), (b), (c) 3) ’$º$ (a), (d) 4) ’$º$ (b)

21) Elements affecting on professional excellence are......

a) Quality of human resource b) Professional training

c) Professional capabilities d) Total population

Answer options :

1) Only  (a), (b) 2) Only (a), (b), (c) 3) Only (a), (d) 4) Only (b)

H$m¡eë¶ {dH$mg

1) "amï´>r¶ H$m¡eë¶ {dH$mg A{^¶mZmMr gwédmV' ...... Pmbr.
a) 15 Owb¡ 2015 amoOr
b) OmJ{VH$ ¶wdm H$m¡eë¶ {XZ àg§Jr
c) Hw$eb ^maVmMo Ü¶o¶ JmR>Ê¶mgmR>r
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a) Am{U (c) ’$º$ 4) darbn¡H$s gd©

1)  The National Skill Development Mission launched

a) on 15th  July 2 015

b) on the occasion of World Youth Skilled Day

c) to achieve the vision of ‘Skilled India’

Answer options :

1) (a) (b)  only 2) (b)  and (c) only 3) (a) and (c) only 4) All of the above

2) amï´>r¶ H$m¡eë¶ {dH$mg ‘hm‘§S>im~m~V (NSDC) H$moUVo {dYmZ A¶mo½¶ Amho?
1) CÚmoJm§À¶m ‘XVrZo {d{dY àH$maÀ¶m amoOJma g§YrMr {ZpíMVr H$aUo.
2) 2022 n¶ªV 24 ‘hÎdÀ¶m joÌmV 11.92 H$moQ>r ‘Zwî¶~imMr JaO {Z‘m©U hmoUma.
3) 'CS>mZ' ¶moOZoA§VJ©V Xoe^a H$m¡eë¶ à{ejU g§ñWm ñWmnZ.
4) H$m¡eë¶ à{ejU joÌmV H$m‘ H$aUmè¶m g§ñWm§Zm 6% XamZo H$O© CnbãY.

2) Which sentence is not correct about National Skill Development Corporation (NSDC)?

1) Determining and training various types of employment opportunities with the help of industries.

2) 24 important areas will have 11.92 crore human resources requirement by 2022.

3) Under the 'Udan Yojana', established Skill Training Organizations all over the Country.

4) Loan available at 6% interest rate to te Institutes working in Skill Training.
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3) àYmZ‘§Ìr H$m¡eë¶ {dH$mg ¶moOZoÀ¶m g§X^m©V Imbr H$mhr {dYmZo {Xbr AmhoV.
a) ^maVr¶ ¶wdH$m§‘Ü¶o H$m¡eë¶ {dH$mg H$aÊ¶mgmR>rMr ¶moOZm
b) hr ¶moOZm n{hë¶m§Xm 15 Owb¡, 2015 amoOr gwê$ H$aÊ¶mV Ambr.
c) XoemVrb 24 bj ¶wdH$m§Zm H$m¡eë¶ {dH$mgmMo à{ejU XoUo hm à‘wI CÔoí¶.
d) hr ¶moOZm amï´>r¶ H$m¡eë¶ {dH$mg ‘hm‘§S>imH$Sy>Z am~{dbr OmVo.
darb¡nH$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV?
1) ’$º$ (b) 2) (c) Am{U (d) 3) (a), (b) Am{U (c) 4) darbn¡H$s Zmhr

3) The following are some statements regarding the Prime Minister Skill Development Scheme.

a) Launched for Skill development in Indian Youth.

b) This scheme was first launched on 15th July, 2015

c) The main objective is to train the 24 lakh Youth in th Country for Skill Development.

d) This scheme is implemented by the National Skill Development Corporation.

Which of the statement(s) given above is/are incorrect?

1) Only (b) 2) (c) and (d) 3) (a), (b) and (c) 4) None of the above

4) n§VàYmZ amï´>r¶ H$m¡eë¶ {dH$mg n[afXoZo H$moUmMr ñWmnZm Ho$br?
1) ³¶y gr Am¶ 2) EZ gr B Ama Q>r 3) EZ Eg S>r gr 4) Eb E‘ Am¶ Eg

4) Which was set up under the Prime Minister's National Council for skill development?

1) QCI 2) NCERT 3) NSDC 4) LMIS

5) H$m¡eë¶ {dH$mg Am{U CÚmoJ ‘§Ìmb¶ hm emgZ ¶moOZoÀ¶m A§VJ©V YmoaUmMm ^mJ ...... À¶m ~m~VrV Amho.
1) ‘oH$ BZ B§{S>¶m 2) OZYZ ¶moOZm
3) ¶wdm {dH$mg ¶moOZm 4) g~H$m gmW, g~H$m {dH$mg

5) Ministry of Skill Development and Entrepreneurship is an integral part of the government policy

on ......

1) Make in India 2) Jandhan Youjana

3) Yuva Vikas Yojana 4) Sabka Saath, Sabka Vikas

6) àYmZ ‘§Ìr H$m¡eë¶ {dH$mg ¶moOZm (PMKVY) hr .......... ‘§Ìmb¶mMr ¶moOZm Amho.
1) ‘mZd g§gmYZ {dH$mg 2) H$m¡eë¶ {dH$mg Am{U CÚmoOH$Vm
3) ‘{hbm d ~mb {dH$mg 4) J«m‘rU {dH$mg

6) Pradhan Mantri Kaushal Vikas Yojana (PMKVY) is the scheme of the Ministry of ......

1) Human Resource Development 2) Skill Development and Entrepreneurship

3) Women and Child Development 4) Rural Development
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7) H$m¡eë¶ {dH$mg Am{U CÚmoOH$Vm ‘§Ìmc¶m§VJ©V Am¡Úmo{JH$ à{ejU g§ñWm (ITI) Imcrcn¡H$s H$moUË¶m ì¶dgm¶mMo
à{ejU XoVo?
a. H¥$fr, ’$cmoËnmXZ, ’w$ceoVr
b. CËnmXZ à{H«$¶m {Z¶§ÌU Am{U ñd¶§McZ
c. dmhZ, XþéñVr. a§JH$m‘, Bcop³Q´>H$c Am{U Bco³Q´>m°{Z³g
d. gm¢X¶© Am{U {ZamoJrnUm
e. à¶moJemim ghmæ¶H$ - amgm¶{ZH$ H$maImZm
n¶m©¶r CÎmao :
1) ’$º$ b 2)  ’$º$ b Am{U e 3) a, b Am{U  c 4) darcn¡H$s gd©

7) ITIs under Ministry of skill development and entrepreneurship offer which of the following trades?

a. Agriculture, horticulture and floriculture

b. Manufacturing process control and automation

c. Automobile, repairing, painting, electrical and electronics

d. Beauty and wellness

e. Lab assistant - chemical plant

Answer options :

1) Only b 2) Only b and c 3) a, b and c 4) All of the above

8) Imcrcn¡H$s H$moUVr ¶moOZm amï´>r¶ H$m¡eë¶ {dH$mg ‘§S>im ‘m’©$V Zmhr ?
1) amoOJma ‘ocm 2) CS>mZ
3) àYmZ‘§Ìr H$m¡eë¶ {dH$mg ¶moOZm 4) H$mamJra à{ejU ¶moOZm

8) Of the following which is not a scheme through NSDC ?

1) RozgarMela 2)  Udaaa

3)  Pradhan Mantri Kaushal Vikas Yojana 4)  Craftsmen Training Scheme

9) ‘hmamï´> amÁ¶ H$m¡eë¶ {dH$mg gmogm¶Q>r (MSSDS) gd© {Oëøm§gmR>r PMKUVA nwT>mH$ma KoV AmhoV.MSSDS Zo
‘hmamï´>mVrc H$mhr {ZdS>H$ eham§gmR>r ^maV gaH$maÀ¶m amï´>r¶ ZmJar CnOr{dH$m A{^¶mZmMr gwédmV XoIrc Ho$cr
Amho.. ¶m ¶moOZo  A§VJ©V ‘hmamîQ´>mVrc ¶wdH$mcm ‘mo’$V H$m¡eë¶ à{ejU {‘iy eH$Vo. PMKUVA H$m¶ Amho ?
1) àYmZ‘§Ìr H$‘©{Zð> CÚmoOH$ {dH$mg A{^¶mZ 2) àYmZ‘§Ìr H$m¡ec CÞV {dH$mg AmcoI
3) àYmZ‘§Ìr Hw$ec CÚmoOH$ {dH$mg A{^¶mZ 4) ¶mn¡H$s Zmhr

9) Maharashtra State Skill Development Society (MSSDS) have initiated PMKUVA for all the

districts. MSSDS have also initiated Government of India’s National Urban Livelihoods Mission

for few selected cities in Maharashtra. Maharashtra’s youth can get skill training under this schemes

free of cost. What is PMKUVA ?

1) Pradhan Mantri Karmanishtha Udyojak Vikas Abhiyan

2) Pradhan Mantri Kaushal Unnat Vikas Aalekh

3) Pradhan Mantri Kushal Udyojak Vikas Abhiyan

4) None of these
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10) àYmZ‘§Ìr H$m¡eë¶ {dH$mg ¶moOZoÀ¶m g§X^m©V Imbr H$mhr {dYmZo {Xbr AmhoV.
a) ^maVr¶ ¶wdH$m§‘Ü¶o H$m¡eë¶ {dH$mg H$aÊ¶mgmR>rMr ¶moOZm
b) hr ¶moOZm n{hë¶m§Xm 15 Owb¡, 2015 amoOr gwê$ H$aÊ¶mV Ambr.
c) XoemVrb 24 bj ¶wdH$m§Zm H$m¡eë¶ {dH$mgmMo à{ejU XoUo hm à‘wI CÔoí¶.
d) hr ¶moOZm amï´>r¶ H$m¡eë¶ {dH$mg ‘hm‘§S>imH$Sy>Z am~{dbr OmVo.
darb¡nH$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV?
1) ’$º$ (b) 2) (c) Am{U (d) 3) (a), (b) Am{U (c) 4) darbn¡H$s Zmhr

10) The following are some statements regarding the Prime Minister Skill Development Scheme.

a) Launched for Skill development in Indian Youth.

b) This scheme was first launched on 15th July, 2015

c) The main objective is to train the 24 lakh Youth in th Country for Skill Development.

d) This scheme is implemented by the National Skill Development Corporation.

Which of the statement(s) given above is/are incorrect?

1) Only (b) 2) (c) and (d) 3) (a), (b) and (c) 4) None of the above

11) amï´>r¶ H$m¡eë¶ {dH$mg ‘§S>i ...... H$aob.
a) amï´>r¶ ¶mo½¶Vm aMZm ì¶dñWmnZ b) amï´>r¶ H$m¡eë¶ {dH$mg {ZYr {Z{‘©Vr
c) Am^mgr H$m¡eë¶ {dH$mg òmoV Omio d) amï´>r¶ H$m¡eë¶ ¶mXr ñWmnZm
n¶m©¶r CÎmao …
1) (a) 2) (a) Am{U (b) 3) (c) 4) darb gd©

11) The National Skill Development Mission would ......

a) Set up National Qualification framework

b) Create National Skill Development Fund

c) Virtual Skill Development Resource Network

d) Establish a National Skill inventory

Answer Options :

1) (a) 2) (a) and (b) 3) (c) 4) All of the above

12) ñQ>°ÝS> An B§{S>¶m ¶moOZog§X^m©V Imbrb H$mhr {dYmZo {Xbr AmhoV …
a) ZmoH$ar ‘mJUmam CÚm ZmoH$ar XoD$ eHo$b hm ¶m ¶moOZoMm CÔoí¶ Amho.
b) XoemVrb Jar~, AZwgy{MV OmVr, O‘mVr Am{U ‘{hbm CÚmoOH$m§gmR>r hr ¶moOZm gwê$ H$aÊ¶mV Amhr.
c) ¶m ¶moOZoA§VJ©V {Xbo OmUmao H$O© {~Ja eoVr CÚmoJmgmR>r XoÊ¶mV ¶oVo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV?
1) ’$º$ (b) 2) ’$º$ (c) 3) (b) Am{U (c) 4) darbn¡H$s Zmhr

12) Below are some statements regarding the stand up India Scheme :

a) The purpose of this scheme is to create a job provider tomorrow.

b) The scheme was launched for the Poor, Scheduled Castes, Tribes and Women Entrepreneurs

in the Country.

c) Loans given under this scheme are given to Non-agricultural Industries.

Which of the statements(s) given above is/are incorrect?

1) Only (b) 2) Only (c) 3) (b) and (c) 4) None of the above
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13) H$m¡eë¶ {dH$mgmdaMo amï´>r¶ YmoaU ...... H|$Ðr¶ ‘§Ìmb¶mZo ‘m§S>bo.
1) H$m‘Jma Am{U amoOJma ‘§Ìmb¶ 2) ì¶mnma ‘§Ìmb¶
3) H$mnm}aoQ> KS>m‘moS>r ‘§Ìmb¶ 4) J«m‘rU {dH$mg ‘§Ìmb¶

13) The National Policy on Skill Development has been formulated by ..........  Central Ministry.

1) Ministry of Labour and Employment 2) Ministry of Commerce

3) Ministry of Corporate Affairs 4) Ministry of Rural Development

14) amï´>r¶ H$m¡eë¶ qH$dm A{^¶mZmg ...... Zo nmqR>~m {Xbm Amho.
a) amï´>r¶ H$m¡eë¶ {dH$mg g§ñWm b) amï´>r¶ H$m¡eë¶ {dH$mg {ZJ‘
c) gm‘mÝ¶ à{ejU g§MmbZmb¶ d) amÁ¶ {ejU g§MmbZmb¶
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) 3) (a), (b) Am{U (c) 4) ’$º$ (d)

14) The National Skill Development Mission is supported by

a) National Skill Development Agency b) National Skill Development Corporation

c) Directorate General of Training d) State Directorate of Education

Answer options :

1) Only (a) 2) (a) and (b) 3) (a), (b) and (c) 4) Only (d)

15) XrZX¶mi CnmÜ¶m¶ H$m¡eë¶ {dH$mg ¶moOZoMo Ü¶o¶ H$moUVo?
1) J«m‘rU ^mJmVrc ¶wdH$-¶wdVtZm à{ejU XoD$Z {d{dY H§$nÝ¶m‘Ü¶o ZmoH$ar {‘idyZ XoUo.
2) AZwgy{MV OmVr-O‘mVrÀ¶m ¶wdH$m§Zm à{ejU XoD$Z ZmoH$ar {‘idyZ XoUo.
3) ehar ^mJmVrc ¶wdH$-¶wdVtZm à{ejU XoD$Z ZmoH$ar {‘idyZ XoUo.
4) ~oamoOJmam§Zm à{ejU XoD$Z ZmoH$ar {‘idyZ XoUo.

15) Which is the aim of Dindayal Upadhyay Kaushlya Vikas Scheme?

1) Train rural youth and help them to get job in different companies.

2) Train Scheduled Castes and Scheduled Tribes Youth and help them to getemployment.

3) Train youth in urban areas and help them to get the job.

4) Train unemployed youth and help them to get job.

16) à‘moX ‘hmOZ H$m¡eë¶ d CÚmoOH$Vm A{^¶mZ A§VJ©V …
a) 15 Vo 45 d¶moJQ>mVrb bmoH$m§Zm amoOJmaj‘ H$aÊ¶mgmR>r H$m¡eë¶ {dH$mg hm H$m¶©H«$‘ am~{dÊ¶mV ¶oV Amho.
b) ¶m ¶moOZoV AZwgy{MV OmVr, O‘mVr, ‘{hbm, {Xì¶m§J, Aëng§»¶m§H$ BË¶mXrÀ¶m gh^mJmda {deof ̂ a XoÊ¶mV ¶oVmo.
c) hr ¶moOZm Aën{e{jV, ~oamoOJma, ¶wdH$-¶wdVtgmR>r Cn¶wº$ Agë¶mZo Ë¶m§Zm ñdV…À¶m nm¶mda C ô amhUo e³¶

hmoUma Amho.
darbn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV ?
1) Ho$di (a) 2) (a) Am{U (c) 3) (a) Am{U (b) 4) darbn¡H$s Zmhr
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16) Under Pramod Mahajan skill and entrepreneurship development campaign :

a) The skill development program is being implemented for the age group of 15 to 45 years o

make them employable.

b) Special emphasis is placed on the participation of scheduled castes, tribes, women, disabled,

minorities etc.

c) This scheme is suitable for less educated, unemployed, young men and women so as to enable

them to stand on their own feet.

Which of the statement(s) given above is/are incorrect?

1) Only (a) 2) (a) and (c) 3) (a) and (b) 4) None of the above

4) Loan available at 6% interest rate to te Institutes working in Skill Training.

17) amï´>r¶ H$m¡eë¶ {dH$mg ‘§S>i ...... H$aob.
a) amï´>r¶ ¶mo½¶Vm aMZm ì¶dñWmnZ b) amï´>r¶ H$m¡eë¶ {dH$mg {ZYr {Z{‘©Vr
c) Am^mgr H$m¡eë¶ {dH$mg òmoV Omio d) amï´>r¶ H$m¡eë¶ ¶mXr ñWmnZm
n¶m©¶r CÎmao …
1) (a) 2) (a) Am{U (b) 3) (c) 4) darb gd©

17) The National Skill Development Mission would ......

a) Set up National Qualification framework

b) Create National Skill Development Fund

c) Virtual Skill Development Resource Network

d) Establish a National Skill inventory

Answer Options :

1) (a) 2) (a) and (b) 3) (c) 4) All of the above

18) XoemVrb H$m¡eë¶m{Y{ð>V H$m‘Jmam§À¶m ‘mJUr d nwadR>çmMr OwidUr H$aUmè¶m àdoe ÛmamMo H$m¶© H$moU H$aob?
1) l‘ ~mOma ‘m{hVr àUmbr 2) amï´>r¶ ì¶mdgm{¶H$ à{ejU n[afX
3) amï´>r¶ H$m¡eë¶ g§emoYZ {d^mJ 4) amï´>r¶ H$m¡eë¶ {dH$mg ghH$ma

18) Who will act as A portal for matching the demand and supply of skilled workforce in the country?

1) Labour Market Information System 2) National Council of Vocational Training

3) National Skill Research Division 4) National Skill Development Co-operation

8) Cƒ {ejU nÕVr
1) a) amï´>r¶ CƒVa {ejm A{^¶mZ (ê$g) Mr gwédmV 2013 ‘Ü¶o Pmbr.

b) d§Ü¶Ëdmda CnMma
c) {ddmh g„m Am{U ‘mJ©Xe©Z
d) {ddmhnyd© {ejU d b¢{JH$ {ejU
n¶m©¶r CÎmao …
1) darbn¡H$s gd© 2) (a) Am{U (b) 3) (a), (c) Am{U (d) 4) darbn¡H$s Zmhr
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1) (a) The Rashtriya Ucchatar Shiksha Abhivan (RUSA) was launched in 2013.

(b)The Rashtriya Ucchatar Shiksha Abhiyan (RUSA) is implemented through the Union Ministry

of Human Resource Development.

(c)The University Grants Commission and the Union Ministry of Human Resource Development

launched this scheme under the name RUSA.

Which of the given above statement(s) is/are correct ?

1) Only (a) 2) (b) and (c) 3) (a), (b) and (c) 4) None of the above

2) amï´>r¶ CƒVa {ejm A{^¶mZ (ê$gm) Mr C{ÔîQ>ço H$moUVr AmhoV?
a) {d{hV {ZH$fm§Mr nyV©Vm H$ê$Z amÁ¶ g§ñWm§Mr EHy$U JwUdÎmm gwYmaUo.
b) amÁ¶ {dÚmnrR>m§‘Ü¶o ñdm¶ÎmVog MmbZm XoUo Am{U g§ñWm§‘Ü¶o àemgZ gwYmaUo.
c) g§b¾Vm, e¡j{UH$ Am{U narjm àUmbr‘Ü¶o gwYmaUm gw{ZpíMV H$aUo.
d) Zm{dÝ¶nyU© e¡j{UH$ V§Ì Am{U nÕVr {dH${gV Am{U àgm[aV H$aUo.
n¶m©¶r CÎmao …
1) (a) and (b) 2) (a), (b) and (c) 3) (b), (c) and (d) 4) gd© n¶m©¶ ~amo~a AmhoV

2) Which are the objectives of Rashtriya Uchchatar Shiksha Abhiyan (RUSA)?

a) Improve the overall quality of State Institutions by ensuring conformity to prescribed norms.

b) Promoting autonomy in State Universities and improving Governance in Institutions.

c) Ensure reforms in the Affiliation, Academic and Examination systems.

d) Develop and disseminate innovative Educational Techniques and Methods.

Answer Options :

1) (a) and (b) 2) (a), (b) and (c) 3) (b), (c) and (d)           4) All options are correct

3) amï´>r¶ Cƒ {ejU A{^¶mZmV (RUSA) nwT>rb KQ>H$m§da ^a {Xbm OmVmo …
a) embo¶ {ejUmgmR>r {ZYrMo à‘mU dmT>dyZ Ë¶mMr A§‘b~OmdUr H$aUo.
b) Ano{jV C{Ôï> àmár d {ZYr ¶m§Mm ¶mo½¶ g‘Ýd¶ KmbUo.
c) g§emoYZ, Zd{Z{‘©Vr d ì¶mdgm{¶H$ {ejUmgmR>r àmoËgmhZ XoUo.
d) Cƒ {ejUmMo d¡pídH$aU H$aUo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV?
1) ’$º$ (a) 2) (a) Am{U (c) 3) (b), (c) Am{U (d) 4) darbn¡H$s gd©

3) In the Rashtriya Uchchatar Shiksha Abhiyan (RUSA) the following factors are emphasized:

a) Enhance funding for school education and implement it.

b) To make proper coordination of the expected target and the funds.

c) Motivation for Research, Innovation and Vocational Education.

d) Globalization of Higher Education.

Which of the statement(s) given above is /are incorrect?

1) Only (a) 2) (a) and (c) 3) (b), (c) and (d) 4) All of the above
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4) Cƒ {ejU g§ñWm§gmR>r Z°H$À¶m JwUdÎmmXe©H$ Mm¡H$Q>r‘Ü¶o ¶m§Mm g‘mdoe hmoVmo -
a) Aä¶mgH«${‘H$ A§J b) AÜ¶mnZ, AÜ¶¶Z Am{U ‘yë¶‘mnZ
c) g§emoYZ, Zdm nm¶§S>m Am{U {dñVma d) nm¶m ŷV gw{dYm Am{U AÜ¶¶Z g§gmYZo
e) {dÚmWu AmYma Am{U àJVr f) emgZ ì¶dhma, ZoV¥Îd Am{U ì¶dñWmnZ
g) g§ñWmË‘H$ ‘yë¶o Am{U CÎm H$m¶©àUmbr h) {R>H$mU Am{U AZwXmZ XOm©
n¶m©¶r CÎmao …
1) ’$º$ (d) Am{U (e) 2) ’$º$ (b) Am{U (c)$
3) (a), (b), (c), (d), (e), (f), (g) 4) (a), (c), (f) Am{U (h)$

4) NAAC’s Quality Indicator Framework for Higher Education Institutions consists of -

a) Curricular aspects

b) Teaching, Learning and Evaluation

c) Research, Innovation and Extension

d) Infrastructure and learning resources

e) Student support and Progression

f) Governance, leadership and Management

g) Institutional values and best practices

h) Location and | grant-in-aid status

Answer Options :

1) (d) and (e) only 2) (b) and (o) only

3)  (a), (b), (c), (d), (e), (f), (g) 4) (a), (c), (f) and (h)

5) nwT>rbn¡H$s H$moUË¶m g§ñWm Cƒ {ejUmVrb {eIa g§ñWm AmhoV ?
a) Am°b B§{S>¶m H$m¡pÝgb Am°’$ Q>op³ZH$b EÁ¶wHo$eZ (AICTE)

b) H$m¡pÝgb Am°’$ Am{H©$Q>o³Ma (CoA)

c) B§{S>¶Z H$m¡pÝgb Am°’$ [añQ>mo[aH$b [agM© (JCHR)

d) B§{S>¶Z H$m¡pÝgb Am°’$ {’$bm°gm°{’$H$b [agM© (ICPR)

e) B§{S>¶Z H$m¡pÝgb Am°’$ gmoeb gm¶Ýg [agM© (ICSSR)

f) {dÚmnrR> AZwXmZ Am¶moJ (UGC)

n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (f) 2) (a), (e) Am{U (f) 3) ’$º$ (f) 4) darb gd©

5) Which among the following are Apex bodies in Higher education ?

a) All India Council of Technical Education (AICTE)

b) Council of Architecture (CoA)

c) Indian Council of Historical Research (ICHR)

d) Indian Council of Philosophical Research (ICPR) _

e) Indian Council of Social Science Research (ICSSR) a

f) University Grants Commission (UGC)

Answer Options :

1) only (a) and (f) 2) (a), (e) and (f) 3) only (f) 4) all of the above
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CÎmao - (10) ‘yc ŷV g§emoYZ kmZ

1) g§emoYZmMo  àH$ma, g§emoYZmMr à{H«$¶m
1-1 2-2

2) g§emoYZ AmamIS>m

3) g§emoYZ A{^`mo½`Vm

4) dmMZ AmH$bZ

5) AmYmagm_J«r AW©CH$b

6) AÜ`mnZ A{^`mo½`Vm

1-3 2-2 3-4

7) ì¶mdgm{¶H$ {ejU H$m¡eë¶ {dH$mg

ì¶mdgm{¶H$ {ejU
1-1 2-3 3-4 4-3 5-3 6-1 7-4 8-4 9-2 10-3
11-4 12-2 13-4 14-1 15-1 16-1 17-3 18-4 19-1 20-4

21-2

H$m¡eë¶ {dH$mg

1-4 2-3 3-4 4-3 5-4 6-2 7-4 8-4 9-4 10-4
11-4 12-4 13-1 14-3 15-1 16-4 17-4 18-1

8) Cƒ {ejU nÕVr
1-3 2-2 3-1 4-3 5-4


